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They need somecthing to lure the fish. Here
LURE indicates-.

A. cook B. attract
C. clean D. find
AOT: Lure - W9 T2~ - Find.—_C'-’ITﬁT- .
Cook -#igtsar © . Cleau-‘?rﬁm
Attract - wFdt a1 ¢« '
mmmﬁwwqwm Lurem I
Ans: B, | '
i The term COUNTERFE[T lmplles-
| A. fake B. rubbish
C. foe D. imbibe
o - Cnuntcrfclt ﬂﬂﬂ“{ &5 - Fake — 599, _IIT
Foe - & - .' s Imtuhe WW
avma Cnunterfe:lt G| synun}fm fake. - --
Ans s A 4 ; : -
i The term PROVOICE IS fuund inconsistent w:th-
A. soothe B. insult
C. aggravate D. encourage

W , Provoke - I (@], Bmgs = -
Sunthﬂ wma‘qﬁ‘w '

Aggmvate arrﬁumm R T
_Insult - o4 | . e |

- Encumage Ee.'-‘l‘lfi_ '4='-ﬂ

|Ans:D. . e
B The meanmg of LUM[NOUS declines-

A. pessimistic B. gloomy

C. radiant D. brilliant
IMO: Luminous - Begm - .
Ry 'Pessiﬂlistic" TOTAE .Glmfny_—.ww,

' "Radiant - E‘Eﬁ .+ Brilliant -~ Grg@
Ans:C. . - i ooald | -

Select the appropriate word/words to fill in the
_ﬁ.’awing blanks. (Questions 30-34)
Did you enjoy the movie? It's
I've ever seen before.
A. very B. more
C. as D. much
01 : Sub.1 + verb+as ....... as + Sub.2 + ..
Example : I bought as many mangoes as Kanm
IR “ o1 SHE @ cﬂwmﬁsgmww FATS as good
as g |

It’s as good as'any I’ve ever seen.
Ans : C.

___ good as any




. By the time I had reached the bottom of the

mountain, I___ extremely tired.
A. feel B. had felt
C. am feeling D. felt

w=wmwmwﬂwﬁmhﬁvﬁ§m
v e I FAR G ACIRTOEE AT Wt

Eﬁtﬂ mﬂﬁfgﬁrﬁﬁﬁlmm#‘ﬁl@—w Past

Indefinite I3 9 |

S nﬂ‘dm I felt extremely tired - X9 |

Ans : |

m Jnhu did not have to write the cumpnmtmn if he

didn't want to; it was .
A. optional B. eligible

C. unauthornzed D. unseemly
it : Optional - @f&s
Eligible - ©#{& gt
Unauthorized - Scams ﬁ'ﬁﬂ
Unseemly - 5go®

wﬁmmfémrsmmﬁ@rwwmﬁwwml
A AP [ I @ John . Cnmpumtmn Cﬁiﬂ

PSS fEFm | : .
e, G Optmﬂal"?iﬂﬁﬁl o TF T on
AR A B T
R} Luckily, my bruther is not very keen

plaﬁng

football. However, he is interested ___ watching
movies.
A. on, In B. of, on C. i11, n D. on, on

TR Keenon—epswim® L AN
Interested in — W19%), ‘-‘ﬁ?{ﬁ '

43 Option <3 Combination !&F‘FHW (On m) ~iwﬁ$r

Ans: A. . _

34. Though it is a densely pupulated :ity, there are
surprisingly people seen on the streets.

A. afew B. a little
C. few D. little
I : Countable noun 471 CFG. few- 1n'IT.'='=l lﬂﬂ"

Uncountable noun 97 ¢ little 301 I

“People”- countable noun.
Ans: C. _
. Last summer we went on___ cruise in the
Caribbean. Among_ islands we visited were

Bermuda and the Bahamas.

A. no article, the B.a, the
C. the, an D. the, no article

hUE ﬁﬂﬂﬁrﬁlcnusaﬁwﬁﬁmmm “a” T |
ﬁﬁﬂﬁ’ﬂ?ﬂ Is!and"ﬁﬁ?wqﬁirﬁmlsland qaq

TR TotTs fof e | Toam 94 “the” X |
| Ans: B,

m All the songs on this new album___ by Lisa, and
the album  Jive during her recent successful

concert tour.

A. written/recorded

B. wrote/recorded

C. was written/was recorded
D. were written/was recorded

It ¢ Qi ToF w2 Passive Vmce *IFH ﬁ'ﬂ'ﬂ GITJTﬁ

Option (D) Correct.
Ans ) ) : | ' --
| Trace out the word “which is currectly spelled-
A. nurcissim B. nercissim
C. narcissism D narmsun
Yt : Narcissism — SFIHST - '
WWE Ry ergf Spellmg
.| Committee Rec:ﬂmmcnd
'| Assassination | Misspelt
i S Cnlunel Abbreviatinn
AnsC

. The nght and the power to interpret and apply
the law implies-
A. nugatory
C. juristic
"m"tﬂ “Nugatory - ¥R *
* Jurisdiction - wﬁﬂﬂmtﬂﬁaﬂmm@ afea
. Juristic = ‘Eﬁﬂt*’l‘n TR
b ]udjmary - o Rt
nﬂﬂﬂﬁﬂﬁ'ﬂﬁm .lurlsdmtmn—’i ‘ﬂﬁ‘iﬂf |
Ans R - ¥
Select the pmr that best expresses a relationship
similar to that in the original part. Tailor : Scissor
A. Painter : Scenery B. Lawyer : Gown
C. Runner : Sneaker D. Carpenter : Saw
‘H'HII Taﬂnr :Scissor. - et : FIfb -
Cmpcnter Saw - Sofify : '-HTE i
Taﬂnr Séissor 'IZH A FE A | Lﬂﬂm nptmns EFJ
‘Wﬂ nptmn (D)‘-"E?I‘ﬁrfl"i"!l Lo it GRS e prULE L
5 D. g 4 and ' I
| "Ignorance of the Iaw is no excuse'- which one
of the followings is more appropriate with this
proverb,
A. Itis no defense to say that we did something illegal.
B. It is no defense to say that we didn't know that
something we did was illegal.
C. It is a defense to say that we didn't know that
something we did was illegal.
D. It is a defense to say that we did know that
something we did was illegal.

Tt : “Ignorance of the Jaw is no excuse” ‘Hﬂf LIET
ST Sl (I STGRIC 7 |

QI TS WW s option (B) wf&= HWF_TT |
Ans : B.

FJl Which of the fnlluwmg sentence is incorrect?

A. The water of this canal is purer than the pond.

B. The water of this canal is purer than the pond's.

C. The water of this canal is purer than that of the pond.
D. The water of this canal is purer than the pond water.

Yt : than that of IIFS W I3 TR RErw @
TEES AT |
The water of this canal is purer than that of the pond. ||

B. jurisdiction
D ]udlcmry

Ans : C.

e



|| 9319 Whether none of them would help him T@ |

|| Ans : B.

Rahim was asked to do a herculean task. Here
'herculean task' means-

A. a very good task B. a very difficult task
C. an impossible task D. none of them

0t : Herculean task — A very difficult task
Ans : B.

Change the speech.

'Kl The poor man exclaimed, '"Will none of you help
me?'

A. The poor man exclaimed none of them would
help him.

B. The poor man exclaimed whether none of them
would help him.

C. The poor man asked for help from others.
D. Please help the poor man.

IOt : Direct speech (Xt Indirect speech ¥a/@ w7

Interrogative Sentence @3 ¥%ts Auxiliary verb 2w
indirect-9 Whether/if + sub + verb + .........

Ans : B.
Change the voice.
. They taught him French and gave him a
dictionary.
A. He has been taught French and given a
dictionary by them.
B. He was taught French and given a dictionary by them.
C. He had been taught French and given a
dictionary by them.
D. He was taught French by them and given a
____dictionary by them.
It : Active to Passive, change a3 Hwg Past
Indefinite F=FTA-

Obj @@ Sub + was/were + verb @3 PP. + by + sub v/ nb_]
Example : Active : He wrote a ]etter.
Passive : A letter was written by him,

Which one is incorrect?
A. Unless you apologize, you will not be admitted
to class.
B. Hardly had the sun risen when we set out.
C. This is my house, live here.
D. She is not only pretty but also smart.

[0 PE , ' () TF Sentence-9 IW 7 verb *IF
Subject & Tt T Stz ©f TER I@ re W |

This is my house, live here.

Q= #ITa e 44 Subject Trad o AT sffisid
e wd & TS A |

a3 Correct form Zd, This is my house, I live here.
Ans: C,

Read the following passage carefully and answer the
questions (Q: 46-50).

A port must be distinguished from a harbor. Harbor is a
physical concept, a shelter for ships; port is an economic
concept, a center of land-sea exchange requiring good
access to a hinterland. Poor harbours can be improved
with breakwaters and dredging if there is a demand for a
port e.g., Madras and Colombo.

Port cities become industrial, financial and political
capitals because of their water connections and the
urban concentration drawing towards 1t railways,
highways and air routes. Primarily water transport
means cheap access. Many of the world's biggest cities,
e.g., London, New York began as ports-that is, with
land-sea exchange as their major function - but they
have since grown disproportionately in other respects so
that their port functions are no longer dominant.

Port functions, more than anything else, make a city
cosmopolitan. A port city is open to the world. In it

races, cultures, and ideas, as well as goods jostle, mix
and enrich each other and the life of the city. The smell

of the city the sound of boat whistles or the moving |
tides are symbols of their multiple links with a wide

world, samples of which are present in microcosm
within their own urban areas.

'Hinterland' means-

A, Wasteland B. Highland

C. Vicinity D. Government land
‘UI‘UT Hinterland - = SO mﬁ@mﬁfwﬁmﬁu

- _-Highland - ﬂlﬁ@mﬂm A
S Wasteland - ﬁf‘ﬂ'ﬂﬁﬁ@‘ﬁﬁr s
“"" . Government land - &S A & |
.. Vicinity - RIS oty e | -
G Hmterland a3 Synnnymﬁma Wasteland aﬁas “TWETIITT |
Ans Al '
Why does the pnrt clty become 1mpnrtant"'

A. It becomes an industrial zone.

B. It becomes financially important.

C. It becomes the political capital.

D. Advantage of watcr connection and urbanization.
9™ - Passage 9 Port Clty @3 importance 93 I
ZGTS water connection @32’ urban concentration ¥ ||
T @l @er | Option A, B, C zox Port City tofi
8] Geifaet, option (D) & Port City a9 &% | '
Feql, Option (D)2 #fés | '
Ans : D. | - |
What is the biggest contribution of a port city?

A. The impetus it provides to the economy.

B. The development it flaws to the area.

C. The goods and services it provides cheaply.

D. Cosmopilitisation of the area.

It : Cosmopolitan - et

9y, Passage 97 last Para (& S@d wig i@ Port
city A1 Rrds IR T 1 foveis (Cusmnpnlllan) Ll
& | FeAie (D) 2 e |

Ans : D.
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F0] What is the main contributing factor behind the e Since 2009, the BRICS nations have met annually at
lessening of importance of the port functions of formal summits.

the major port cities? , e China hosted the 9th BRICS summit in , Xiamen on
A. Land-sea exchange function has become dominant. September 2017, while South Africa hosted the most

T B. Disproportionate growth in other respect. - +in Tulv 2018
_ " . ! ; recent 10th. BRICS summit in July :
C. Unsuitable breakwater facility and insufficient dredging. Ans : D. |

D. Maintenance of the port facility is too expensive.

11 : Passage & 2™ Para - (5 T ©E @, London, New Which one of the following information is
York etc. 39 35 *a *#0% Port City ReTa =i 71re Tame incorrect?
WU CFE TS waifen T ona Port City e «ifasale A. Child marriage is prohibited.
v oy T BT | 7R, @ Option (B)R 73w B. Corruption is unlawful.

|| Ans : B. C. Citizens generally follow the law.

ﬂ The word "microcosm’ is the last paragraph implies- D. All citizens follow the law.
A. the cosmic world _ —— i T

|  B.the composition of the port city 10t : @ Child marriage 1s prohibited — correct (as 1t-1s

C. the encapsulation nature of the port city prohibited by law).

D. the uniqueness of the port cities e Corruption is unlawful — correct (as no law allows
Yt : Microcosm - T8 T4 2 3 Q38 71 wie oga corruption to be legal). . |
T TSRS | e Citizens generally follow law — correct (as there is
Encapsulation = (20 (I I¥F 93 T4 | punishment if anyone docs not follow law).

@ Passage @9 last Para (5 microcosm J5CS RIHI e All citizens follow law — incorrect. E%ec_ause _:f
ez @, Port City ¢ Rz sy etz 79 79 87 a1 everyone followed, we would not have criminals in
JFTS T | TOAR QA (C)?L Ao | | our society. Courts were established to make sure the
Ans : C. punishment of the law breakers. So, not everyone
General knowledge & Aptitude Test (Q. 51-80) follows the law. 3
Match list 1 with list 2 and select the most | [ Ans:D. , | |

Eﬂ? F('S:E)H“W“ 1 Select the pair that hest expresses a relationship

Dhaka - Manikganj - Khulna similar to that in the original part.

List 2 (River) . Time : Watch; Pressure : ?

A. Buriganga - Kaliganga - Rupsha A, Meter B. Hard

B. Buriganga - Rupsha - Kaliganga | C. Forée ). Baroniater

1 - - utra . .
g' gﬁgﬁﬁi ?::1?1111&3 Bé?;nn?h;ﬁputm 01 : @ The ﬁrs-t pair - Time : Watch.
Tt : o List 1 denotes the names of placf:s and List 2 © It shows that time can be measured by watch.
denotes the names of rivers. , e For measuring pressurc, Barometer was invented.
e The places of List 1 are situated in the banks of the * So the second pair will be — Prﬂssurﬂ Barometer.
Rivers mentioned in any of the options. r’: Ans : D.
e Dhaka is situated near Buriganga river. , The medium of transmiting information through |
* Manikganj is situated near Kaliganga ”:VE" b optical fiber cableis
: TKTJ:uIna is stztuated ne?.r R]::{Jihimn 73 ; A “stirent B. electro-magnetic wave
g e S ik " C. light D. both A & C
HWIIIL‘I] one of the fﬂllumng' states is the fifth PGt : o The mﬂdlum nf tranamittmg information
member of the BRICS Bank? | through optical fiber cable is - light.
A. South Korea B. Sri Lanka e An optical fiber cable is similar to an électrical
| C. Singapore D. South A_ﬁmﬂ cable, but containing one or more optical fibers that
I : o BRICS is the acronym coined jor an are used to carry light.
association of five major emerging national ccun{nmies: e The ‘information is coded into the beam of light
Brazil, Russia, India, China and South Africa. down a fiber, a glass, or plastic pipe. .
|| ® It was founded in June 2006 and its hcadqus,rters is e At first, his technology was being used to transmit
located in Denmark. telr:phnne calls at the speed of light,
e Originally the first four were gm'uped as "BRIC d (or "the A
BRICS") before the induction of South Aﬁ1m in 2010.
e The BRICS members are known for lheu' 51gmﬁcant
influence on regional affairs; all are mem!pcrs of G20,
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H3 Which one of the fellewmg IS not a local . Who is the designer of the national emblem of |

government institution? Bangladesh?

A. Zilla Parishad B. Union Parishad A. Kamrul Hasan " B. Swapen Kumar

C. Upazila Parishad D. Divisional Board C. Abdul Quiym D. AN A Shaha
It @ Divisional Board is not a Local Governmental B“! Ut " d .h Th;ﬂ;iﬁggﬂ -of national . emblem in ||
Institution. angladesh 1s asan: .-
e District Council (or Zila Parishad) is a local s The national emblem of Bangladesh (AT SIS
government body at the district level. e:‘@aS) was edepted eherﬂy after independence in 1971. ||
e Sub-District Council (or Upazila Parishad) is a leeal e The design is as follows - the national - ﬂfewer ibbapla
government body at the sub-district level. * | (:'ﬂtﬁ‘ lily) is. eun;_eunded by t&’-’“ tg];eeve? ?E;r“; ove
e Union Councils (or Union Parishads) are the smallest nJral the water, h_lyere. our stars and a three jute
Ldlmmshabve and local gevemment units in Bangladesh | “fBut}fer; Stete sig ni fos

s: D . - _

m In the host state diplomats are immuned from_ . i}ﬂtﬁfﬂ;ﬂa;ﬂ’;ﬁflﬁﬁnm ivolved in any
A. criminal liability B. income tax liability - g
C. nothing D.both A & B B. the state which yields too much about any

contcmporary international 1ssue.

C. the state which has enclaves.

D. the state which is located between two
conflicting states.

0T : @ In the host state, dlplemate are immune from'
— criminal liability and income tax liability.

 Diplomatic immunity; in international iew the"

g[ganmu]zﬂhtiﬂ:n;nogeieiy gierel%'n ey mte;nabenal T = o “Buffer State” signifies — the statc which is
hursdiction of the eeunt‘;r 11: I:,hfgllf I;im;anm e:n the located between two eenﬂletmg stetes
] Lo oA buffer etete is a country lylng between two rival
e v n SEpesy o1 d:plematle oF petentlelly hostile gieater powers.
immunity can be found in the Vienna Cenvenﬁen on '
Diplomatic Relations 1961. . . . R ;ﬂg;ﬁ‘;ﬁiﬁiﬁiﬂﬂiﬁne“mﬁ be theught to prevent
An D - st y S ¥ i iy
m Si\lannme boundary dlspute between Banglal:lesh o Examples ef buﬁ'er states are Ne al and Bhutan acts |
and India was resolved by the- fﬂﬂs b'-'-If}ﬂ’-f ?_Eﬂtﬂ _bﬂh'fﬂﬂﬂ the India ﬂnd China. |
A. Permanent Court of Justice. 2
B. International Tribunal for the Law of the Sea. }:hsatls “t'“ 13111}1 “rdfg?“:‘g”]’t the f““““"“E 5“‘1“'3]57
C. Permanent Court of Arbitration. . : 2 Pﬁm:; tbam ¢ C']E otle
D. International Court of Justice. , e Pl:tg q St::ra taeten} Arlicsftl;?le
bl P Mantuni outngatys ?I.S%uti) be:ii']ween| D' Aristetle > Plato > Socrates
Bangladesh and India was resolve y the : =
Permanent Court of Arbitration (PCA) GrYT: : 0 The right: order among the sequels: 15 -

-Seeretes}Plate}Anetetl‘e g

‘o They all were great phlleeephers of tbelr times.
.o Socrates ;was the teacher of Plato. -

‘e Plato was the teeeher ef Anetetle

Ans : A, ‘ "|

k] Which of the fellemng two countries got their
independence through declaration?

A. India and Pakistan B. India and Nepal

e The judgment is final and cannot be eppeeled egemst.
e The PCA officially conveyed the iresult to betb
parties on 7th July, 2014

o Dhaka lodged the case against New Del}n mtb tbe PC
I on October 8, 2009 after India unfauly cut off a significan
portion of Bmlgladeeh'e maritime area in the Bay.

e The PCA deals with cases involving territorial and maritim

boundarics, sovereignty, human rights, internationa

: : s : C. The USA and Bangladesh
| | investment, and international and regional trade. D. France and Germany
Ans : C.

e AU » Among_the mentioned states, only USA and
5 i i Constitution of Bangladesh
e e resions o xpresson? | |Bangach ot ndependenc hrough decaaion

: B. Article 39 s A deeleratlen of independence or declaration -of
g' iﬂrt:g}g %3 D. Aﬂliclﬂ N7 eteteheed Is an assertion by a defined territory that it

_ FETE dependent and constitutes a state.
: le 39 of the Constitution of is In
g?glad;ethhuﬂerej;Itte;:ﬁ'eedegl of expression. S ol praces re naus ly cloclared trom patt or 8l 64

the territory of another nation or failed nation, or are
e It is also a fundamental right as per the Constitution. breakaway territories from within the larger state,
e The Constitution of the People's R'-‘-'P“bhc of e In 2010, the UN's International Court of Justice

Bangladesh was adopted in 1972. ruled in an advisory opinion in Kosovo that
e The constitution includes references to socialism, "International law contains no prohibition on
Islam, secular democracy and the Bengali language. declarations of mdependenee“

Ans : B. Ans : C.




@ Which American state is nearest tg nearest to the former
Soviet Union?

: © Mixed economy means — the existence of

A. Alabama B. Pennsylvania
C. Califomia D. Alaska

it : @ Alaska is nearest to the former Soviet Union.
o Alaska was sold by the Russian empire to the
Americans in 1367.

o The United States of America (USA) is a country

comprising 50 states, a federal district, five major
self-governing territories, and various possessions.
o It is the world's oldest surviving fede:ratmn

Ans : D.

ﬁ The first cricket club of the worldis

A. Lords Cricketers

B. English Hood Cricket Club
C. Brisbane Cricket Association
D. Melbourne Cricket Club

bmh public and private sectors.

e A mixed economic system 1S a system that
combines aspects of both capitalism and socialism.

o Tt allows the federal government to safeguard its
people and its market.

e The povernment has a large role in the military,

international trade and national transportation.
Ans : B.

m It is impossible for a fisherman

A. to have a fishing net.

B. to have a fishing rod.

C. to catch fish without going to water.
D. to catch fish going to water.

K

e The first cricket club of the world
Marylebone Cricket Club

“Melbourne Cricket Club” in the option).
e It was founded in 1787 in Hambledon.
e Until the International Cricket Council emerged as

the world controling body in 1967, the MCC had been.
the sole authority which had ﬁnal say on every issue

and dispute.

® The MCC still has Junsdn:tmn over the mh:s of fhl: game

Ans : D.

(wrongly written

YT : o It is impossible for a fisherman — to catch fish
without going to water.

e Because all typés of fish reside in water.

e So if someone wants to catch them, they have to go
to water. -

e Particularly, a fisherman has to remain closer to the
fishes to catch them.
Ans : C,

Who said 'man is a political animal'?

A. Dante B. Aristotle C. Socrates D. Plato

m Whu:h was the first cmmtry to recogmze Pa]estme'?

A. Turkey 'B. Syria C. Iran D. Algena

gt : o 12 countries of Arab League and OIC
altogether recognized Palestine at the same time. =

on 15 November, 1988.

e From the given options, Algeria and 'I‘urkey were
present in that meeting on the same day. T

| If we count the voting method regarding ﬂ'lE
recognition, then Algeria was the first cnuntry to

e They all recognized Palestine in a smgle conference

JL, : e Aristotle (384BC-322BC) said “man is a
political animal”.

o He was an ancient Greek philosopher.

e His famous book was the “Politics™.

o ‘Along with his teacher Plato, he has been called the

"Father of Western Philosophy".

Ans: B

. The clear sky looks blue because of

A. reflection of light

B. refraction c;f light
C. diffraction of light

D dispersion of light

[ -

recognize Palestine. molecules in the air scatter blue light from the sun
® The voting starts alphabetlcally more than they scatter red lightt When we look
Ans: D,

i The most toxic metal pnllutant of the automobile

e The clear sky looks blue because of —
dlspr:rsmn of light.

e A clear cloudless day-time sky is blue because

towards the sun at sunset, we see red and orange
colours because the blue hght has been scattered out

exhaust is and away from the line of sight.
T . d. Ans : D.
. g g:ﬁ;m g ﬁ:rcury m In FM Radio, FM stands for
' A. Free Mode B. Frequency Mode
: 8 t of automobile * q y
:];E;u-s.ts l:‘iﬂiatgﬂﬂ Fes Pﬂu“tﬂﬂ i C. Favorite D. Frequency Modulation
o Lead is a chemical element with the symbol Pb <Gt : e In FM Radio, FM stands for — Frequency

(from the Latin plumbum).

Il  Its atomic number is 82.

e Lead is soft and malleable, and also has a relatively

low melting point. carrier wave on which useful information is imposed
Ans : B, or impressed upon.
MMmed economy means_____

A. the existence of both small and big industries

B. the existence of both private and public sectors
C. the existence of both primary and secondary sectors
D. none of the above

Modulation.

» Frequency modulation (FM) is a technique used to
encode data on an alternating digital or analogue signal.

e The method includes varying the frequency of the

e The signal on which data is imposed is known as the
carrier signal and the resulting signal with variable
frequency is called a frequency modulated signal.

Ans : D.




S e | )

- Which country did introduce the concept of : o Nafees Bin ‘Zafar (born 1978) is the ﬁrst
SMRF? Bannladcshl towin an-OSCAR.
A. Iﬂ‘_illﬂ B. Bangladesh eHeisa Bangladeshl software engineer who received
C. Sri Lanka D. Nepal a Scientific and Technical Academy Award (OSCAR)
TN : » Bangladesh introduced the concept of SAARC. in 2007. 1 '
e The South Asian Association for Regional e He was awarded with the OSCAR for his
Cooperation (SAARC) is the  regional contribution to the devr:lupment of the flud
intergovernmental organization and Eﬂﬂpﬂliﬁﬂﬂl simulation system for thc movie: Pirates of the
union of states in South Asia. Caribbean: At World's End.
* Its Member states include Afghanistan, Bangladesh, e He is a great grandson of the famous late ||
Bhutan, India, the Maldives, Nepal, Pakistan and Sri Lanka. Bangladcshl poet Golam Mostofa and grand nephew
e SAARC was founded in Dhaka on 8 December 1985. of the famous Bﬂﬂglﬂdﬁhl artlst and puppeteer
e Its secretariat is based in Kathmandu, Nepal. - Mostofa Monowar. . |
Ans : B. i Ans : B.
m A hospital needs 150 pills to treat 6 patients for a | X3 Building : Inﬂﬂgurﬂﬂﬂﬂa Ship:_
week. How many pills does it need to treat 10 A. Charter B. Harbnur
patients for a week? : C. Commission D. Captain .
A. 250 B. 260 T-!]N]T e Building:Inaugaration; Ship: Captain
C. 280 D. 270 o Tn understand the reason, we may assume the sentence
14t : @ The hospital ueeds 150 p1lIs to treat 6 patleuts — A building needs inauguration to go further.
in a week. e Similarly, a. ship needs a ‘captain to go in proper ||
|| ® So it needs (150/6)=25 pills to treat one person per week_ direction.

|| ® For 10 patients to treat per week, the hospital will Ans:D; - @0 ¢
need (25x10)=250 pills per wcck » 3 Fmd out the mlssmg number. (Q. 79-80)

Ans: A. ' o b

. Who is the most heauhl’ul? Clue
A is prettier than B.
D is uglier than A. 720 402
E is prettier than A. /@ /<>2x
C is uglier than A. ATSd B. 174
D is prettier than B. C. 164 D. 184
A == 2 D-A MYt : o The'missing number is 154.

T : o E is the most beautiful here. tat A s pretier| | |® From the first figure; we can find (21 x 36+ 14) = 720,

l ¢ From the giyen cluﬂs o . IS p | @ From the second figure, we can find (16 x 24 +18) = 402.
than'B, Cantl D. 5 ' e Similarly, from the last figure, we can find (11 x 12
o And we can also find that Ei premer Ihan A 427)= 153’;; gur R
e So, without any doubt, E is the most beauhful hete. . e ke -

Ans : B. i m
. Which one is not a Baltic State? 9 8 6
A. Lithunia B. Latvia ‘ 516(6] [2181 a2 13
C. Estonia D. Leichtenstein 3 - 3 7
YT : e Liechtenstein is not a Baltic State. A 4 B &
» The Baltic States is a geopolitical term, typically used C.8 D. 10
to group the three sovereign states in Northern Europe. T+ o The B T 4 A
e They are - Estonia, LSMa, El . E;ti::ﬂn I:nast of the e From first f'L,g,ruriﬁ-:"‘sg column, we fmd 8+9)=17.
'Barlf;’::}é ;ﬂ" o JOcaIEg o T2 From the row, we findi(5 + 6 + 6) = 17.
e On the. contrary, Liechtenstein is a doubly * From second figure’s column, we find (8 + 3) = 11.
landlocked German-speaking microstate In Alpine From the row, we find 2 +8 + 1) =11.
Central Europe. 21.6541?1";’:1)1:;1.1'131,1':‘;l from the last figure’s column, we find
ﬁWﬁ‘ is the first Bangladeshi to win an Oscar? From row, we find (4 + 4 + 5)=13.
A. Satyajeet Ray B. Nafecs Bin Zafar Ans : A. _ ¥
C. Sabirul Islam D. A“Eh—Rﬂkhﬂ Rahman
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A. TSI B. %R C.sfswel  D. fasm 2 | Reefm Reedt : g @@ g v |-
TR : o (@ AN HAMHS (FF O} LIS T 1 O l"W’-'ﬂ?fﬁ’f""*""r gﬁmmmwmrcﬁn |
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o A0S : s, R, SweTm, TgEweE )

o &R : FEH, Y, R, TRA | ;

o TRAS : A, W, THE, oIS, US|

Ans : B.

|[E =RBrt cmt wmt i i T TEwR?
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C. T8 D. 379
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Ans : D. ‘ |

E 'aamwr*f?maaaf-amfb meﬁl

A wer=pf B, =pfR  C. SARA D. o
I : I GG (P 4 AT &I = '
o T S =M T T A - Toe=pd
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Ans: A.

€ English D)

A person with the same name as another is

called-
A. nickname B. anonymous
C. pseudonym D. namesake

Iyt : Nickname -SFHT  Anonymous - SEISN
a5 Paaudanym Eﬂﬁlﬂ Namesake ﬁ‘%’tﬂﬂmﬁ
Ans:D.
| HYPOCRISY axpresses-

A. falsehood B. bossy

C. lazy D. annﬁlamg
Tt : Hypocrisy - $96e!, Seift '

Falsehood - ﬁF&I]T wiffmife  Bossy.- aw-faamqm .

3 Lazy ST - Cunfualag ﬁa@w
Ans : A. '
. The term MYOPIC is opposed to-
A. intolerant B. prejudiced
C. bigoted D. broadminded

T[T : Myopic - 8 ©

Synonym :. Shortsighted Naaralghted Pu:rbhnd
Antmlym Langmghtad Bruad minded, Liberal
Ans:D. . |
. TANGIBLE dlsagraas w:th .
A. matenal B. absurd

C. visible — D. abstract i

Tt : Tangible - I8, 7P
Synnnym Tauchable Matanal, Rea], Cancrete, Sahd
Antunym lntang:ble Ahatraat Theoretical '

Ans : D. , -
K] Find the different word from the fullawmg list of

words
A. dominant B. totalitarian
C. apartheid D. authoritarian

?ITHIT Dominant — & Totalitarian - FReSamM
. " Apartheid - =if Rt Authoritarian - Cratei

431, Option C @3 Apartheid 21 Hrﬁ! i) wnrd « |

rnaanmg a?!lf?u ' _.

Ans:C.. & - - -

Select rha appraprmra ward/wards fo ﬁH in the

ollowing blanks. (Questions 31-38)
Are you going to leave now? Unless you would

prefer me___ here.

A. to stay B. will stay

C. that I stay _D. stay _
[l : Preferto-awq @t ..
Prefer @3 =17 preposition to 0 |
Ang s Ay AT S -

EThe more hemoglobin one has, the more oxygen
is carried to____cells.

A. its - B. one's C. each D. every
J(OL : e Subject RMT one YR @I Possessive
Pronoun & one's I3 1
° Evaryune ﬂ'ﬁ’tﬁ hlsfhar‘-'ﬂ §

Ans '




Hnrrls was never able to do the work in time
because Mary would always
A. defer B.interfere C.disperse D. discontent

Tt : Defer - TTefq - Interfere - WUF ¥
Discontent - w>/@f2  Disperse - fAfe Fa1/zgrt
I, TR O IS T 3 T % e R interfere TX |
Ans : B,
- MWe have interviewed 20 candidates for the vacant
posts, but ___ of them was appropriate for i.
| A. most B. neither C.either D. none
TGt : Most - 9@ 3RR  Neither - 52167 W04 G A1
None - &% =t Either - 4io3 sty vsio
|| 931, but = w12 {+dte wd 33 | I3 none = Tea )
) Ans: D.
My son is mad____ science and technology. I
guess he will be expert___ engineering.
‘A. about, on B. in, in C.in, of D. about, in
Ut : Mad about - SI®, (T 198 & 43 S8
Expert in - W'

e Expert in + Something (@ Fgrs A ﬁrg?ﬁrm CFGa
wES! JAS) '
Example : He was an expert in English.

o Expert of + somebody (I3t wFst RTS)

Example : It 1s expert of Mr. Karim to do enythjng 1n time.

_rAns : D.

The moment T learned the resn]t of the art
competition was one of the worst times in my life.
A.while  B. when C. then D. since

it : G H o $40e the moment @& #7 when 9 |

Ans : B.

Rafiq is driving at a speed of 90 miles
because he is now on___ Airport Road.
A.a,the B.an,the C.an,article D. the, the

It : Hour 9 *{ Article, an 3771 Road @3 9k

Article, the 307 |

Ans : B.

It that too little money____
on roads.

A. has said/is spent  B. is said/spends
C. was said/spent D. is being said/is being spent

Yt : QA sentence G Passive Voice @ Wtz | Relative

Pronoun (who/which/that) % T& 92U sentence 97 G

Passive Voice Z# w#ibe Passive Voice J | '

| | 9, 52 At Passive Voice @ fzm Seailit Option (D) correct.

Ans D. '

i Identify the correctly spelled word-

A. exuberance B. exsuberance
C. exguberance D. exubarense

Nt : Exuberance - &, @54

f¥% important spelling -

Exuberance

Assassination

Psychology

hour

by the government

Committee | -
Archeology
Colonel

Ans: A.

| F:2018-2019 (284)

. Select the pair that best expresses a l‘Elﬂl’lDﬂS]’llp_I
similar to that in the original part. Affluent :

Impoverished ' R
A. Wealthy : Opulent B. Sanguine : Optimistic
C. Rich : Poor D. Sick : Sound

0Tt : Affluent : Impoverished - ¥ : 7@

Wealthy : Opulent - €3 : S@IeR
Sanguine : Optimistic - @t : SRR

Rich : Poor - 47t : Wiag
~Sick : Sound - “EPIi 1z
Ans C.

| '"The fool in a hurry, drinks his tea ‘W]ﬂ] fork'-
which statement best expresses the proverb?
A. A man cannot drink hot tea.
B. Disorder moves slowly, order is always in hurry.
C. Order moves slowly, but surely, disorder 1s
always in a hurry.
D. Order moves surely slowly, disorder is always in a hurry

It : The fool in a hurry, drinks his tea with fork -

mewmw
Ans : C. -

i Which one in inenrreet"

A. Unless you apologize, you will not be admitted
to class.

B. Hardly had the sun risen when we sct out.
C. She is not only pretty but also smart.
D. None of the above.

LI QN WIE‘IT sentenee cnrreet
Ans : D.

Which one of the fnllnwings reflects the best use
of 'cry for the moon'?

A. Do not cry to go to the moon.

B. Oh, come on! It's like crying for the moon! We
can afford it.

C. Oh, come on! It's like crying for the moon! We
cannot afford it.

D. Why should we cry? We can go to the moon
easily.

T2 Cry for the moon - ST ﬁ}g‘ﬁmm
Ans:C.

Change the speech.

'Are you alone my son'?- asked, a soft voice
behind him.

A. A soft voice ask that what I was doing there alone.

B. A soft voice said to me are you alone my son.

C. A soft voice from my back asked if I was alone.

D. A soft voice behind me asked if I was alone,
It : Interrogative sentence & indirect speeeh U
(TR 73 S0e Auxiliary <,

Sub + asked + object + if + sub + verb + __
Tfew Taa T (D)
Ans : D.




e s ] oo (539

’?hﬂnge the voice.
4

s Does listening to music disturb you?

A. Where you disturbed by listening to music?

B. Are you disturbed by listening to music?

C. Do you feel disturbed by listening to music?

D. Do you disturbed by listening music?
I : 92, Active voice © Present Tense 9 SINg,
option (A) ¢S were SITE 18 4f6 G |
Option C «a2 D &1 <4 Passive Voice @ Interrogative
Fa W AR Swee  auxiliary W1 Do/does/did,
passive voice 9 T4 71 | TSR, #3F T3 Option B |
Ans : B.
Read the following passage carefully and answer
questions 46-50.
The earth's crust averages 16 miles thick and rests on
what is called the mantle. This layer, about 750 miles
thick, is believed to be of a semi-viscous or plastic
nature rather than solid. Thus, both continental and
oceanic areas could be said to float on the mantle, with
continental areas pushing deeper into the mantle than do
oceanic areas where the crust is thinner.
Constant erosion moves dirt and rock into ocean areas
where they settle. These areas gradually sink deeper into
the mantle, eventually creating pressures that thrust new
land up from surrounding -areas. Mountains formed by
this process are made of sedimentary rock and are called
folded or dome. Earthquakes occur where the crust
shifts or creaks apart sharply under pressure; the
resulting breaks or fissures are called faults. Mountains
created by these faults are called fault blocks.
In weak spots on the earth's crust - generally near sea coast -
gases and monte rock under tremendous pressure break through
to form shaped mountains. These we know as volcanoes.
No sooner are new mountains and flatlands created by
pressure then water, ice, and wind begin to wear _them away,
thus creating new valleys, river course and coastline.
The first paragraph is mainly about _ the

earth's___
A continents B.crust C.mantle D. oceans
(=10t : Continent - ¥=I™ Crust - &«fFeid
Mantle - (6t redl/Sge ¥ Ocean - 7@

¥ Passage @@ @49 Paragraph @ <f2dm Seifaem
Ao Fe] ZOACR |
Ans : B.
The writer uses the word 'float’ to describe the way-

A. dirt and rocks erode into the sea

B. land and water areas rest on the mantle

C. the mantle rests on the earth's core

_D. water areas drift onto the mainland

I : Float - ©FA1
Q3 writer G- Betfiew -ifTe &1z FAS float X
QI AR |
Ans : D.

The mantleis
A. a flexible substance under the crust
B. a solid layer of the earth's crust
C. a thin layer of earth under the ocean

D. the semi-solid exterior of the earth

PGt : Mantle - S/ =M
QT GHLER =S S I AR )
| Ans : B.
The second paragraph states that eroded
material creates pressure in ocean areas, causing
the formation of-
A. continental areas B. dome mountains

C. fault blocks D. fissured reefs

1T ¢ Paragraph 2 ¢S SR 391 SR | TS (PR 4
YTt 507 T G- Bivt 8 303 g fault block 9T |

Ans : C.
Conical shaped mountains are composed of ___
A. pressure B. rock

C. gases and molten rock D. sedimentary rock

it : ¥ Para ¢ Tt ©Mtg, Sea Coast gas @9 molten
rock SR 1o ¥ Conical shaped mountain 567 3% |

Ans: C.

@:_erral Knowledge & Apﬁtl@

Match list 1 with list 2 and select most

appropriate answer |

List 1 (Place)

Dinajpur - Sylhet - Cox's Bazar

List 2 (Mineral)

A. Coal-Gas-Glass sand

B. Gas-Coal-Glass sand

C. Coal-Gas-Sea rock

D. Rock-Sand rock -Sea rock
it : @ List 1 represents place and List 2 represents minerals. | |
e Dinajpur is famous for coal. The Boropukuria Coal
Mine is situated there,

o Sylhet has many gas fields. Chatak Gasl Field is
located there. -

e Cox’s Bazar is famous for glass sand.
e So the correct order will be — Coal-Gas-Glass Sand.
Ans: A.

The Rome Statute was adopted establish-
A. European Union

B. International Criminal Court

C. European Court of Human Rights.

D. Permanent Court of Arbitration. _
It : o The Rome Statute was adopted to establish
International Criminal Court (ICC).

e It is also known as ICC Statute.

» The Rome Statue was approved in Rome in 1998
and became effective from 2002.

» As of March 2019, 122 states are party to the statute.
Ans : B.




! The present Parliament of Bangladesh is the-
A. 11th Parliament B. 10th Parliament

C. 9th Parliament D. 8th Parliament

A In which of the following countries, one finds a

TN : © The present parliament of Bang]adesh is the
11th parliament.

® The Jatiya Sangsad, also known as the House of the
Nation, is the supreme legislative body of Bangladesh.

* The current parliament of Bangladesh contains
350seats, including 50 seats reserved for women.

* Elections are held every five years unless the
parliament is dissolved before that time.

* The 11th National Parliamentary Election was held

on 30 December 2018.

Ans : A.

X0 Who is a child?

A. A boy of 21 years
= C. A boy above 18 years D. A girl under 18 years

B. A grill above 18 years

I -
under 18 years is a child.

e Biologically, a child (plural: children) is a human being
| between the stages of birth and puberty. or between the
| developmental period of infancy and puberty.

e The legal definition of child generally refers to a
minor, otherwise known as a person younger than the
age of majority.

e And the age of majority as per UNICEF and the
Majority Act 1875 of Bangladesh, is 18 years |

e From the abovementioned options, a girl

Ans : D.
E What is the function of a pacemaker?
A. Tt decreases heart beat.
B. It regulates heart beat.
C. It increases heart beat.
D. It accelerates blood supply to heart.

the chest to help control abnormal heart rhythms.

|  This device uses electrical pulses to lower the heart

to beat at a normal rate.

an irregular heartbeat (arthythmia), particularly a slow one.
e In a nutshell, a pacemaker regulates heartbeats.

Ans : B.

Tt : o A pacemaker is a small device that's placed in|

e It's used fo help one’s heart beat more regularly i1f he has.

Which one is inappropriate?

A. crime-arrest-trial-jail

B. student-teacher-class-examination

C. criminal-victim-offence-good society
D. vendor-customer-bargaining-sale

It : o In option A — When a-crime occurs, the
criminal gets arrested, then he is taken for trial and
then jail. So the sequence isright. . . -

o In option™B — A student goes to a teacher, attends
his class and then attend in examinations. So the
sequence is also right.

e In option D — A vendor advertises the products o
the customers, then the bargaining begins and finally
the product goes for sale. This sequence is also right.

e But here, option C is inappropriate as thc sequence
does not match with any clues.

Ans : C.

F:2018-2019 (286)

village named 'Rupashi Bangla'?
A. Congo B. South Sudan

C. Ivory Coast D. Senegal . _

LAns : C.
'Soft Loan Window' relates to

TN : » “Rupashi Bangla” village is located in Ivory Coast.
e It is near “Man” city in western Ivory Coast.
» A Bangladesh Peacekeeping Mission Camp is

situated near the village.
o The camp is named as “BanBat-3 (Bangladesh

Battalion-3)”.

A. Asian Development Bank

B. World Bank
C. International Monetary Fund

_D. International Devﬁlnpment Agency

‘an international financial - institution which nffcrs

o Suﬂ loan mnduw uf world Bank 15 gmr:rally C&llﬂd-

Pt : o A soft loan is a lnan with a below market rate
of interest. - -
e This is also lﬂlmrm as saﬁ fmancmg

e The mtmannnal development association

DA, is

confessional loans and grants to the wnrld‘s pnurest
developing countries, - '

e The IDAis a ‘member of the wur]d bank gmup and |

is headquarterﬂd in Washington D.C., United States

Ans : B, i s

'
" | |

|

- The nnturlnus 'Gnlden Trlangle refers to, the-

following states-

A. Laos, Thailand, Myanmar
B. Pakistan, Afghanistan, Iran
C. Bangladesh, India, Nepal
D. Bangladesh Iudla Pakistan

Mt :- . The gulden triangle is the area of where
hnrders uf Laos, Thailand. and Myanmar meet at thﬂ
confluence of thc Ruak and Mekong rivers,

o The name "Golden Tnanglﬂ" coined by the. Central
Intelhgence Agency, is cummnnly used more bruadl
to. refer to an area of approximately 950,000 :s uare"
kilometres - (367,000 sq mi).. that nverlaps the
mountains of the three adjacent countrics. -

o Along with Afghanistan in the Golden Crescent, it
has been one of the largest opium- pmducmg areas of
the world, since the 1950s. 3

e Most nf the world’s heroin: came from the Guldea
Triangle = until. the. early 2l1st. century when

Afghanistan became thc wnrld‘ largest pruducer
Ans : A.

. United Natmns Unwermty is lm:ated in- |

A. The United States of America
B, Switzerland  C. Japan D. Egypt

it : @ The United Nations University (UNU) established
in 1973 in the academic and research area of UN.
 The headquarter is located in Shibuya Tokyo, Japan.
e The United Nations University (UNU) currently

ranks 6th among the world's ‘Best Government-
Affiliated Think Tanks’. -

Ans : C.
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m With which does the power to extend or restrict - Euclid was

the Jurisdiction of the High Court rest? A. A Greek mathematician
A. With the Parliament B. a contributor to the use of deductive principles
B. With the Legislative of logic
C. With the council of Minister C. a profounder of the geometrical theories
D. With the Prime Minister D. all of the above
YOt : o The Parliament has the power to extend or |2t : o Euclid was a contributor to the use of
restricted restriction of the High Court. | directive principles of logic." -
I » Parliamentary sovereignty (also called parliamentary e Euclid was an ‘ancient Greek mathematician from
supremacy or legislative supremacy) is a concept in the Alexandria who is bﬂ?t k:!num | for his major work,
constitutional law of some parliamentary democracies. 'Elements'. Although little is known about Euclid the

o It holds that the legislative body has absolute| | [man, he taught in a school that he founded in
sovereignty and is supreme over all other govemment Alexandria, Egypt, around 300 b.c.e.
Institutions, including executive or judicial bodies & it e For his major study, Elements, Euclid collected the

also holds that the legislative budy may change or repeal work of many mathematicians who preceded him.
any previous legislation and so it is not bound by written Among these were Hippocrates of Chios, Thﬂ“‘]lllﬂ
law (in some cases, even a constitution) or by precedmt Theaetetus, and Eudoxus.
Ans : A. . e Euclid's vital contribution was to gather, cnmpﬂe
m Which constitutional amendment replaced | | organize, and rework the mathematical concepts of
'Dacca’ as 'Dhaka' ? ' - his predecessors into a consistent whole, later to
A. The Fourth Amendment, 1975 . ‘| | become known as Euclidean geometry.
B. The Sixth Amendment, 1981 - { o In Euclid's method; deductions -are made from
C. The Eighth Amendment, 1988 | premises or axlrnms. 37
D. The Tenth Amendment, 1990 ﬁns : D - '_
N : o The age amendment 1988 replaced Dacca as Dhaka - E”;l.“cgly deals with__
e 8th amendment act was passed on 7th June 1988 B‘ rcllratisnn bétweah besaniisims and their enviroament
e It amended articles 2,3,5, 30 and 100 of the constitution. CI i ;

e This amendment first of all declared Islam as the D. cell information

state religion, secondly decentralized judicial by =
setting 11ip : Sk ‘Derimrieh bcnches nf High Court WL ;. o Ecology deals w:lth the relation between
nrgamsms and their environment.

division outside Dhaka. o Ecology from the Gréek word meaning "house", or

[| ® It also amended the word Bengali into Bangla and Dacca| | | "
into Dhaka in artcle 5 o the constituion of Bangladesh. ,ﬁﬁ;ﬁ:ﬁnﬁnﬁ:’mﬂg Eﬂﬁﬁ;‘;ﬂ;‘f g

Ans G : 1] | Ecosystems are dynrﬂmcally interacting systems of
In the Arctic you would never meeta___ | | organisms, the communities: they make up, and the

A. Russian scientist B. Penguin _ non-living components of their environment.

C. Pack ice D. White bear o ‘Ecosystem = processes, such . as  primary" production,
Ml : o Although almost all penguin species are pedogenesis, nutricnt cychng, and niche construction, regulate
native to the southern hemisphere they are not found thie flux of energy and matter tlmuugh an environment.
only in cold climates such as the Arctic, the Arctic-is A“S i B.
not their natural habitat. - i \ Who authnred ‘Indla ‘Wms Freednm"’

» Penguins only live in the southern hemlsphere and A. Jawahar Lal Nehru

only two of the 17 species of penguin actually live in B. Maulana Abul Kalam Azad

the Antarctic. 'The rest prefer warmer (snuthem C. Sardar Patel

hemisphere) weather. . D. Amartya Sen

Ans : B. | TN : @ Maulana Abul Kalam Azad (11 November 1388 - 22

Man : Autobiography : Nation: _ ? B February 1958) authored the "India wins freedom”,

A. Geography B. History e India wins freedom is an autobiography kal narratives

C. People D. Leader by Maulana Syyid Abul Kalam Ghulam Muhiyuddin
It : @ The answer to the question is Man : Autobiography ; Ahmed Bin Khairuddin Al-Hussaini Azad. '
Nation : History. » He was an Indian scholar, activist and senior leader
e The reason behind the answer is the second one of the Indian National Cungrcss during the Indian
contains the story the previous one. | Independence movement

- The autobiography contains the story of a man » He was also there first minister of education in the |
-» History contains the story of a nation. Indian government.
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Who is known as the 'Father of Computing'?
A. J Presper Eckert B. Philo Farnsworth
C. John Mauchly D. Charles Babbage

It : @ Charles Babbage is known as the father of computing,

e Charles Babbage was bom on 26th December 1791
and died on 18th October 1871.

e He was an English mathematician, philosopher,
inventor and mechanical engineer.

e Charles Babbage originated the concept of digital
programmable computer.

e Babbage is credited with inventing the first
mechanical computer that eventually led to more
complex electronic designs, though all the essential
ideas of modern computers are to be found in
Babbage's analytical engine.

Ans : D.
m The upper house of the American Parliament is
called
A.the House of Lords.  B. Bundesrat.
C. the Senate.

D. the House of Represemative

1At : @ The upper house of the American parliament
is called the Senate

e The United States Congress is the bicameral legislature
of the Federal government of the United States.

e The legislature consists of two chambers, the house
of representatives which is the lower house and the
Senate which is the upper house. ik

e The composition and powers of the Senate arc established
by Article One of the United States Constitution. - B
e The Senate is composed of senators, each of whom
represents a single state in its entirety. Each state,
regardless of its population size, is equally
represented by two senators who serve staggered
terms of six years. T

e There being at present 50 states in the Union, there
are currently 100 senators.

Ans : C.

Which actress has won the most Oscars?
A. Hepburn B. Natalie Portman

C. Jennifer Lawrenec D. Emma Stone

o : e Katherine Hepburn (May 12, 1907 — June 29,
2003) has won the most Oscars she has won 5 Oscars
and 12 nominations

e She appeared in a range of genres, from screwball
comedy to literary drama, and she received a record
of four Academy Awards as "Best Actress”. _

| e In 1999, Hepburn was named by the American Film
Institute the greatest female star of Classic
Hollywood Cinema. |

e The Academy Awards, also officially and pnl?ularly
known as the Oscars, are awards for artistic and
technical merit in the film industry, given annually by
the Academy of Motion Picture Arts and Sciences
(AMPAS) .

|| e The awards are an international recognition of
excellence in cinematic achievements as assessed by
the Academy's voting membership.

Ans : A.

Six Points program was raised by Bangah-andhu on-

A. 23rd March, 1966

C. 26th March, 1966 D. 29th March, 1966
[T e Six points program was raised by
Bangabandhu on 23rd march,1966.

e The six point movement was a movement in East
Pakistan, spearheaded by Sheikh Mujibur Rahman,
which called for greater autonomy for East Pakistan.

e The movement's main agenda was to realize the six
demands put forward by a coalition of Bengali
nationalist political parties in 1966, to end the
perceived exploitation of East Pakistan by the West
Pakistani rulers & it is considered a milestone on the
road to Bangladesh's independence.

Ans : A.

B. 25th March, 1966

Find the next number of the series : 3, 6, 4, 9, 5,

12, 6, -

A.7 B.9 C.12 D. 15
It = e Here the third number is a plus one of the
first one, likewise the second number is thrice more
then the third number.

e So if you follow the algorithm we find the next
number of the series as 15.

Ans : D. |

The Constitution of Bangladesh was passed by-

A. the Parliament. . B. the Supreme Court.

C. the Constituent Assembly.

D. the Law Commission.

Mt : » The constitution of Bangladesh was passed
by the constituent assembly. ' -

» The Constitution of the People's Republic of Bangladesh
is the constitutional documerit of Bangladesh.

e It was adopted on 4 November 1972 and effective
from 16 December 1972. '

o It provides the framework of the Bangladeshi
republic . with a parliamentary government,
fundamental human rights and freedoms, an
independent judiciary, democratic local government
and a national bureaucracy. - . |

o The constitution includes references to socialism,
Islam, secular democracy and the Bengali language.

e It commits Bangladesh. to ‘“contribute to
international peace and co-operation in keeping with
the progressive aspirations of mankind”.

Ans : C,

Time difference of Bangladesh with Greenwich

Meantime is

A.Shours, B.6hours. C.7hours. D. 8 hours.

oA : e Time difference of Bangladesh with
Greenwich Meantime is 6 hours.

e Bangladesh does not currently operate Daylight-
Saving Time.

e In 2009, there was a brief period when DST was
implemented, to address electricity shortages.

e According to a Daily Star newspaper report at the end
of 2009, it was announced that clocks would go back
one hour on 31 December and then move forward one
hour on 31 March the following year, 2010.

_Ans : B.




Whir.h one is true?
A The product of two negative numbers is negative.
B. Dividing a negative number by a positive
number results in a positive.
C. The product of one negative and one positive
number is positive.
D. None of the above.
YL :  The product of two negative numbers is positive
e Dividing a negative number by a positive number
results in a negative.
e The product of one negative and one positive
number is negative as negative numbers are
introduced, each positive number would have an
additive inverse.
e The fact that the product of two negatives is a
positive is therefore related to the fact that the inverse
of the inverse of a positive number is that positive
number back again
Ans : D.

"If birds are singing it must be spring'- the
statement can be true for which of the following
statements?

A. Birds are singing creatures.

B. Spring allures birds to sing more than any other
reasons.

C. Birds do not sing unless they are happy.

D. Birds sing only in spring.

M0t : @ "If birds are singing it must be spring" this

statement is true for the following statement that

spring allures birds to sing more than other seasons.:

e In spring the male birds are trying to attract female

birds in order to make babies, as well as defending their

territory from other birds, these sounds of spring are
really the sounds of birds showing off and argumng.

Ans B.

I Which of the following novels was dedmateﬂ to
Kazi Nazrul Islam by Rabindranath Tagore?

A. Basanta B. Bishorjan
C. Dackghar D. Raja'O Rani

MYt : » "Basanta” is a novel of Rabindranath Tagore

which was dedicated to Kazi Nazrul Islam.

e It was first published in 1923.

e Rabindranath sent a statement of blessing when

"Dhumketu" started publishing, he was very anxious

when Nazrul was on hunger strike, and he honored

Nazrul by dedicating his drama "Basanta" to him.

¢ Upon request from Rabindranath, Pabitra

Gangopadhdhay went to personally deliver a copy of

Boshonto to Nazrul at Alipur central jail.
Ans: A,

| Who amongst the followings won the 'Kalingo'
L award for his writings on sciences?

A. Zafar Igbal B. Humayun Ahmed
C. Abdullah Al Muti D. Kudrat E Khuda

: « He became first Bangladeshi writer to win

lhe UNESCO Kalingo Prize in 1983.

e Abdullah Al Muti Sharafuddin (1 January 1930 — 30
November 1998). mostly known as "Abdullah Al Muti"
was a Bangladeshi educationist and science writer.

e He wrote tough scientific ideas in an easy fashion
suitable for children and teenagers.

e He had earned major national awards - Bangla
Academy Literary Award in 1975, Ekushey Padak in
1985 and Independence Day Award in 1995.

e The Kalmga Prize for the Pnpulanzaunn of Science
is an award given by UNESCO for exceptional skill
in presenting scientific ideas to lay people.

Ans: C.

Find out the right letter-

4 2 7 1
6 ? M|]- 5
\3 |H N 5
1 4 3 6
AL B.O
C.1 D.B

RN : e Here is- we count the alphabets ‘order as
numbers we get'Al;, B2, C3, D4, D5, F6, G7, H8, I9,
'Jlﬂ K11, 112, M13, NI4 0]5 P16, Q17, R18, S19,
TZG U21, V22, WZS X24 YZS Z26.
‘-Here4+2+6"12 L » R
l?+1+5 13 = M -
-3+1+4 B—'H
.--5+3+6—14 N
Ans A s

m Insert the mlssmg letters-

@%@

A. B.
\/ AV,

1! : « The alphabets in the upper side is two letters
away from the next alphabet and likewise the the
downside alphabets are three alphabet away from the
the next alphabet. -
e Forexample, F+2=1,1+2=L,L+2=0

e Likewise, C+3=G,G+3=K, K+3=0

Ans : D.




